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Reasoning & Data Analysis & Numerical Ability 

 

Direction:- Study the information carefully and answer the questions: 

Seven friends – P, Q, R, S, T, U and V – bought cars in different months of the same year – March, 

April, June, August, September, October and December. Each of them bought a car in different city 

– Delhi, Agra, Dehradun, Chandigarh, Surat, Indore and Lucknow. 

P bought a car in a month having 30 days, but not in April. Only two people bought a car between P 

and the one who bought a car in Agra. P did not buy a car in Dehradun. S bought a car in a month 

immediately before the one who bought a car in Agra. 

The number of people who bought car between U and the one who bought a car in Dehradun is one 

more than that between P and the one who bought a car in October. U bought a car in one of the 

month before the one who bought a car in Dehradun. The car in Dehradun was not bought in 

October. The car in Lucknow was bought in a month having 30 days but not in June. Only three 

people bought cars between Q and the one who bought in Lucknow. 

More than three people bought cars between R and V. R bought a car before V. No one bought a 

car between T and the one who bought in Delhi. The car in Chandigarh was bought in one of the 

months before T. V did not buy a car in Indore. 

 
 

1. Which person bought the car in December month? 

1) U 

2) T 

3) R 

4) V 

5) S 

Ans- 4 
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2. In which of the following month the one who purchased the car in Indore had? 

1) June 

2) December 

3) October 

4) August 

5) April 

Ans- 4 

 

3. Which of the following statement is not true? 

1) V purchased car in Surat. 

2) Q purchased car in October. 

3) P didn‟t purchased car in Lucknow. 

4) R is not the first one to purchase the car. 

5) S purchased car in September in Indore. 

Ans- 5 

 

4. Who purchased the car just after S purchased? 

1) Person Q 

2) Person U 

3) Person P 

4) Person T 

5) Person V 

Ans- 1 
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Direction:- Study the following information carefully to answer the given questions:       

There are six employees P, Q, R, S, T and U of a company and all of them are working on six 

different designations of a company viz. BOD, CLO, CFO, CTO, Manager and Clerk. All the 

designations given are to be considered in a given order (as BOD is considered as Senior-most and 

Clerk is considered as the Junior-most). The one who likes Guava is junior than Q. S does not like 

Guava and Mango. One of the persons likes Orange. T is just junior to the one who likes Mango. 

Only two persons are junior to S. The one who likes Grapes is junior to only one person. P likes 

Pear and is Senior to Q. T is senior to U. Q does not like Banana. P is not Manager. Q does not like 

Grapes . 

 

5. Who is just junior to Q?    

1) S 

2) P 

3) Q 

4) U 

5) None of these 

Ans- 4 

 

6. Who among the following is Manager of the company?    

1) S 

2) Q 

3) T 

4) P 

5) None of these 

Ans- 2  
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7. S likes which of the following fruits?   

1) Banana 

2) Orange 

3) Guava 

4) Grapes 

5) None of these 

Ans- 1  

 

8. How many pairs of letters are there in the word “ REFERENCE”  each of which have as many letters 

between them in the word as they have between them in the English alphabetical series? 

1) Two 

2) Three 

3) One 

4) More than three 

5) None 

Ans- 2  

 

Direction:- Read all the conclusions and then decide which of the given conclusions logically 

follows from the given statements disregarding commonly known facts.  

 

9. Statements: 

Only capture are moment 

Only few capture are pictures 

All pictures are pixel 

Conclusion: 

I. All capture can never be pixel 

II. Some pictures can be moment 
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1) If only conclusion I follows. 

2) If only conclusion II follows. 

3) If either conclusion I or II follows. 

4) If neither conclusion I nor II follows 

5) If both conclusions I and II follow 

Ans- 1  

 
 
Direction:- In each of the questions given below some statements are followed by some 

conclusions. You have to take the given statements to be true even if they seem to be at 

variance from commonly known facts. Read all the conclusions and then decide which of the 

given conclusions logically follows from the given statements disregarding commonly 

known facts. 

 
 

10. Statements: 

Some plates are saucers 

All saucers are spoon 

Only few cups are plates. 

Conclusions: 

I. Some plates are spoons 

II. Some spoons are cups 

III. No cup is saucer 

 

1) Only II is true 

2) Only I is true 

3) Only III is true 

4) Both I and III is true 

5) None of these 

Ans- 2  
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11. All nutrients are protein. 

Only few nutrients are carbohydrates. 

No calcium is nutrient. 

 Conclusions: 

I. Some calcium being protein is a possibility. 

II. All protein being carbohydrate is a possibility. 

III. No carbohydrate is protein. 

 
1) Only I is true 

2) Both I and II is true 

3) Only II is true 

4) Both II and III is true 

5) None of these 

Ans- 1  

 

12. In the word “SCIENCE” all consonants are written as their preceding letter and all vowels are written 

as their following letters. Now all letters are arranged in alphabetical order from left to right and all 

the repeated letters are eliminated. Then, how many such pairs of letters are there, each of which 

have as many letters between them in the word (in both forward and backward direction) as they 

have between them in the English alphabetical series? 

1) Four 

2) Two 

3) Three 

4) One 

5) None 

Ans- 5  
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Direction:- Study the following information carefully and answer the questions below: 

In a family of some persons Devender says that Manya is the daughter of my sister Srishti, who is the 

only daughter of Rakesh. Akash is the child of Rakesh and Ileana, who is the grandmother of Suneha. 

Sarika is the mother of Bhavya, who is the only sister of Suneha. Akash is unmarried. 

 

13.  How is Sarika related to Akash? 

1) Sister 

2) Sister in law 

3) Mother 

4) Cannot be determined 

5) None of these 

Ans- 2  

 

14. Who is the sibling of Manya in the given arrangement? 

1) Bhavya 

2) Akash 

3) Suneha 

4) None 

5) None of these 

Ans- 4  

 

15. Who is the father of Bhavya? 

1) Devender 

2) Rakesh 

3) Illeana 

4) Cannot be determined 

5) None of these 

Ans- 1  
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Direction:- Study the given information carefully and answer the questions that follow. 

Seven persons Gaurav, Abhijeet, Megha, Vineet, Supriya, Saksham and Anuj are sitting in a row 

facing north. Each of them likes different Monuments viz. Red Fort, Lotus Temple, Charminar, Hawa 

Mahal, Golden Temple, Qutub Minar and Taj Mahal but not necessarily in the same order. 

Megha sits second to the left of Vineet. There is a gap of two persons between Abhijeet and 

Supriya. Three persons sit between Anuj and one who likes Hawa Mahal. Vineet likes Taj Mahal. 

One who likes Red Fort sits at the end of the row. One who likes Charminar sits third to the left of 

Abhijeet. Abhijeet and one who likes Qutub Minar are immediate neighbours. Saksham does not like 

Hawa Mahal. One who likes Red Fort does not sit at the left end. Supriya is an immediate neighbour 

of Anuj who likes Lotus Temple. Saksham sits second to the right of Abhijeet. 

16. Who amongst the following sits on the immediate left of the one who likes Taj Mahal ? 

1) The one who likes Golden Temple 

2) Supriya 

3) The one who likes Hawa Mahal 

4) Saksham 

5) None of these 

Ans- 3 

 

17. Four of the following five are alike in a certain way and so form a group. Which is the one that does 

not belong to that group? 

1) Supriya – Charminar 

2) Anuj - Lotus Temple 

3) Megha - Hawa Mahal 

4) Vineet - Taj Mahal 

5) Saksham - Red Fort 

Ans- 3  
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18. Which of the following statements is true? 

1) Vineet sits at one of the extreme ends of the line. 

2) The one who likes Lotus Temple is on the immediate left of the one who likes Charminar 

3) Megha sits second to the left of Saksham. 

4) The one who likes Hawa Mahal  sits exactly in the middle of the row. 

5) None is true 

Ans- 2  

 

19. Who among the following sits exactly in the middle of Supriya and the one who likes Qutub Minar ? 

1) Gaurav 

2) The one who likes Charminar 

3) The one who likes Hawa Mahal 

4) Megha 

5) None of these 

Ans- 1  

 

20.  How many persons sit between Vineet and Gaurav? 

1) None 

2) Two 

3) One 

4) Three 

5) None of these 

Ans- 2  
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Direction:- In a survey of 600 students of a college, it was found that 62% liked watching 

hockey, 49% liked watching football and 50% liked watching basketball. Also, 27% liked 

watching football and hockey both, 29% liked watching basketball and hockey both and 28% 

liked watching football and basket ball both. 10% liked watching none of these games. Then: 

 

21. Find the ratio of number of students who like watching only football to those who like watching only 

hockey. 

1) 3:7 

2) 7:12 

3) 7:19 

4) 2:5 

5) None of these 

Ans- 3   

 

22. Find the number of students who like watching at least two of the given games 

1) 238 

2) 348 

3) 305 

4) 142 

5) None of these 

Ans- 2  

 

23. Find the number of students who like watching only one of the three given games. 

1) 182 

2) 150 

3) 192 

4) 125 

5) None of these 

Ans- 3  
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Direction:- What will come in place of question mark (?) in the following number series? 

 
 
 

24.  20     22     27      37     59     ? 

1) 77 

2) 87 

3) 67 

4) 97 

5) None of these 

Ans- 2  

 

25. 109    119    130    134     142     ? 

1) 149 

2) 150 

3) 151 

4) 152 

5) None of these 

Ans- 1  

 

26. 49             51             63             99            179           ? 

1) 332 

2) 336 

3) 329 

4) 342 

5) None of these 

Ans- 3  
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Direction:- Find the missing term in the following number series. 

 

27.  17      25       24       31       ?       36 

1) 31 

2) 33 

3) 39 

4) 30 

5) 35 

Ans- 4  

 
 

28.  120    139    157    174    190     ? 

1) 217 

2) 210 

3) 212 

4) 205 

5) None of these 

Ans- 4  

 

29. Pipe „A‟ and pipe „B‟, together can fill 20% of a tank in 8 hours while pipe „C‟ takes 50 hours to empty 

it. Pipe „A‟ and pipe „B‟ were opened together. After 25 hours, pipe „C‟ is also opened. Find the total 

time taken to fill the empty tank this way. 

1) 30 hours 

2) 42 hours 

3) 100 hours 

4) 49 hours 

5) 35 hours 

Ans- 3  
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30. 44.008% of 599.23 + 35.02% of 400.2 = ? 

1) 610 

2) 530 

3) 780 

4) 410 

5) 340 

Ans- 4  

 

Direction:- What approximate value should come in the place of question mark (?) in the 

following questions? 

 
 

31. 13.98 × 8.98 - 41.99 × 3.04 + 549.90 = ? 

1) 550 

2) 547 

3) 586 

4) 518 

5) 563 

Ans- 1  

 

32. ?/647 = 226/ ? 

1) 502 

2) 305 

3) 405 

4) 207 

5) 603 

Ans- 3  
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Direction:- What approximate value should come in place of question mark? 

 
 

33.  (12% of 925) × 3. 94 = ? 

1) 232 

2) 117 

3) 322 

4) 444 

5) 143 

Ans- 4  

 

Direction:- What approximate value should come in the place of question mark (?) in the 

following questions? 

 

34. 11.98 × 5.98 - 45.99 × 4.04 + 629.90 = ? 

1) 633 

2) 557 

3) 486 

4) 518 

5) 563 

Ans- 4  

 

35. „A‟ and „B‟ together can complete a work in 15 days, while „B‟ and „C‟ together can complete the 

work in 10 days. If „B‟ takes 12 days to complete the work alone then find the time taken by all three 

together to complete 25% of work. 

1) 3 days 

2) 2 days 

3) 9 days 

4) 5 days 

5) 6 days 

Ans- 1  
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Direction:- Study the following graph carefully & answer the questions given below it. 

Government of India allocated some funds in four major projects - Railways, Roads, Agriculture, 

Defence and others. In 2000, the total amount allocated was 600 million. 

 

 

36. The funds allocated for other purposes is approximately what percentage of total funds allocated for 

the other four projects in 2000 was? 

1) 3% 

2) 4% 

3) 9% 

4) 12% 

5) 6% 

Ans- 5 
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37. What is difference between funds allocated for domestic purposes and other purposes in the country 

in 2000? 

1) 40 million 

2) 44.67 million 

3) 41.67 million 

4) 41.25 million 

5) 40.67 million 

Ans- 3  

 

38. The difference between the fund allocated to Agriculture and Roads in 2000 was equal to? 

1) 51 million 

2) 56 million 

3) 50 million 

4) 40 million 

5) 59 million 

Ans- 3  

 

39. If the funds requirement for Defence were 350 million, the amount of additional fund allocation 

required would be? 

1) 500 million 

2) 550 million 

3) 650 million 

4) 652 million 

5) 600 million 

Ans- 5  
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40. Find the average funds allocated for Defence and others project together. 

1) 115 million 

2) 105 million 

3) 120 million 

4) 125 million 

5) 75 million 

Ans- 4  

 

41. The ratio of zinc and copper in a brass pieces is 4:7. How much zinc will be there in 110 kg of such 

a piece? 

1) 60 kg 

2) 80 kg 

3) 40 kg 

4) 30 kg 

5) None of these 

Ans- 3  

 

42. In a class, the ratio of number of boys to that of girls was 7:6 and total number of boys was 1960. 

When some more boys joined, the ratio became 8:7. Find the number of boys joined. 

1) 40 

2) 60 

3) 30 

4) 48 

5) None of these 

Ans- 1  
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43. What is the ratio whose terms differ by 38 and the measure of which is 3/5? 

1) 57:95 

2) 43:75 

3) 74:99 

4) 69:87 

5) None of these 

Ans- 1  

 

44. A sum of Rs.9600 is to be divided among 4 brothers, 3 sisters and 2 aunts. If each sister receives 

twice as much as each aunt and each brother receives four times as much as each aunt. How much 

does each sister receive? 

1) Rs.450 

2) Rs.500 

3) Rs.600 

4) Rs.800 

5) None of these 

Ans- 4  

 
45. The ratio of two numbers is 2:5. If each number is decreased by 4, the ratio becomes 3:8. Find the 

smaller numbers. 

1) 24 

2) 64 

3) 40 

4) 52 

5) None of these 

Ans- 3  
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General Awareness & Current Affairs 

 

46. Who is the present governor of Assam ? 

1) Jagdish Mukhi 

2) Arif Mohammad Khan 

3) Thawar Chand Gehlot 

4) Acharya Devvrat 

Sol: 1,  

 

47. BrahMos Aerospace was formed as a joint venture between Defence Research and Development 

Organisation (DRDO) of India and which other country? 

1) Germany 

2) USA 

3) Russia 

4) Japan 

5) China 

Sol: 3,   

The BrahMos Aerospace Limited, is the joint venture between the Defense Research and 

Development Organisation (DRDO) of India and Russia’s Federal State Unitary Enterprise 

NPO Mashinostroyenia, plans to sign $1 billion worth. 
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48. Under which ministry insurance scheme for health workers is being administered? 

1) Ministry of Consumer Affairs 

2) Ministry of Culture 

3) Ministry of Health and Family Welfare 

4) Ministry of Social Justice and Empowerment 

5) None of these 

Sol: 3,   

The insurance scheme for healthcare workers fighting Covid-19 – the Pradhan Mantri Garib 

Kalyan Package (PMGKP) and it has been done to continue providing the safety net to 

dependents of health workers who are deputed to take care of Covid-19 patients. 

 

49. National Housing Bank of India (NHB) provides housing loan upto amount to ______? 

1) 4 Lakh 

2) 5 Lakh 

3) 3 Lakh 

4) 10 Lakh 

5) 15 Lakh 

Sol: 1, 

The objective of the NHB is to provide credit guarantee support to Collateral free/third-party 

guarantee free housing loans up to Rs.5 lakhs. 

 

50. Nuthalapati Venkata Ramana is the _____ number of Chief Justice of India? 

1) 47th 

2) 48th 

3) 46th 

4) 44th 

Sol: 2,  

NV Ramana has been appointed as the new Chief Justice of India on 6th April 2021. He will 

succeed Sharad Arvind Bobde and he took oath as India’s 48th CJI.  
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51. The letter “A” in ASSOCHAM represents 

1) Assam 

2) Assistance 

3) Association 

4) Associated 

5) Administration 

Ans- 2 

 

52. A study of Gender Bias and Inclusion in advertising in India is published by? 

1) WHO 

2) ITO 

3) UN 

4) UNICEF 

5) None of these 

Sol: 4,  

This study is being published by the United Nations Children's Fund (UNICEF) and the Geena 

Davis Institute on Gender in Media (GDI) to assess the role of advertising media in 

reinforcing and challenging harmful gender roles that shape the lives of girls and women in 

the country in order to drive more gender sensitive advertising. 

 

53.  Out of 156 countries what was India‟s rank as per the Global Gender Gap report 2021? 

1) 138th 

2) 140th 

3) 136th 

4) 125th 

5) 150th 

Sol: 2,  
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Global Gender Index evaluates the performance of the countries on these criteria: 

Economic Participation & Opportunity 

Education Attainment 

Health and Survival 

Political Empowerment 

 

54. The South Asian Association for Regional Cooperation (SAARC) is an economic and political 

organization of _____ member countries? 

1) Seven 

2) Eight 

3) Nine 

4) Ten 

Sol: 2,  

Members are Bangladesh, Bhutan, India, Maldives, Nepal, Pakistan and Sri Lanka. 

 
 

55. Credit Rating of a debt security is 

1) Guarantee of Repayment by the borrower 

2) Opinion on the creditability of the borrower 

3) Recommendation regarding investment in the debt security of the borrower 

4) Estimation of the number of days of delay in servicing of debt by borrower 

5) Ranking of the borrower based on number of days of delay in servicing of debt 

Ans- 2  
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56. “World in 2030” a Survey Report was recently published by which organization? 

1) UNESCO 

2) IMF 

3) WTO 

4) UNICEF 

5) ASEAN 

Sol: 1,  

On 31 March, UNESCO publishes its new “The World in 2030” survey report, which presents 

the results of an interactive survey and consultation collecting responses from more than 

15,000 people worldwide in 2020 and it shows that climate change and loss of biodiversity 

was by far the most-selected challenge, chosen by 67% of respondents. 

 

57. India‟s largest stockholder company as of March 2021 was? 

1) Tata Consultancy Services (TCS)  

2) Kotak Mahindra Bank 

3) Tata Steel Limited 

4) Microsoft 

5) None of these 

Sol: 1,  

As per March 31, 2021, Tata Consultancy Services (TCS) is India's largest-IT company and 

also one of the country's most-valued companies 
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58. PM SVANidhi aims to cover how many street vendors? 

1) 10 Lakhs 

2) 20 Lakhs 

3) 25 Lakhs 

4) 50 Lakhs 

5) 1 crore 

Ans- 1 

 

59. India‟s first nuclear missile tracking ship INS Dhruv is being built by which organization? 

1) NTRO(National Technical Research Organization) 

2) DRDO(Defence Research and Development Organization)  

3) Hindustan Shipyard Limited 

4) All the above 

5) None of these 

Sol: 4,  

INS Dhruv, the Indian Navy's arsenal, was built by the Hindustan Shipyard in collaboration 

with the DRDO and NTRO. The ship is equipped with multiple features that make it a state-of-

the-art instrument in modern naval warfare. 

 

60. Which of the following is the largest producer of pineapple in the country? 

1) Assam 

2) West Bengal 

3) Maharashtra 

4) Karnataka 

5) Bihar 

Sol: 2,  

India is the fifth largest producer of pineapple with an annual output of about 1.2 million 

tonnes. 
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61. When is World Food Day celebrated? 

1) 16th October 

2) 17th October 

3) 20th October 

4) 19th October 

Sol: 1,  

World Food Day is celebrated every year on 16th October. 

 

62. In Monaco, which of the following organizations is being headquartered? 

1) Food and Agricultural Organization (FAO) 

2) International Maritime Organization (IMO) 

3) World Trade Organization 

4) International Association of Athletics Federations (IAAF) 

5) None of the above 

Sol: 4,   

It was founded on 17 July 1912 as the International Amateur Athletic Federation (IAAF) by 

representatives from 17 national athletics federations in Sweden.  

It was headquartered in Stockholm from 1912 to 1946, in London from 1946 to 1993, and 

thereafter moved to its current location in Monaco. 

 

63. The International Nurses Day is celebrated on? 

1) 11 May 

2) 12 May 

3) 13 May 

4) 17 May 

Sol: 2,  

International Nurses Day is celebrated around the world every May 12, the anniversary of 

Florence Nightingale's birth. The theme for the year 2021 was  “Nurses: A Voice to Lead - A 

vision for future healthcare”.  
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64. Account analysis is. 

1) Analysis of financial statement 

2) Study and conclusion of single account 

3) profitability of single or many account projected & analysed 

4) 1 & 2 only 

5) 2 & 3 only 

Ans- 2 

 

65. In the country Myanmar, which cyclone hit the country recently? 

1) Cyclone Yaas 

2) Cyclone Gulaab & Shaheen 

3) Cyclone Jawad  

4) Cyclone Tauktae 

5) None of these 

Sol: 4,   

Cyclone Tauktae (pronounced as Tau'Te) got its name from India's neighboring country 

Myanmar, which means "Gecko",it is a highly vocal lizard in Burmese and mostly cyclone 

names are given by countries on rotation basis in the region. 

 

 
66. _______ bank emerged as the largest beneficiary on the unified payments interface (UPI) platform? 

1) Airtel Payment Bank 

2) India Post Payment Bank 

3) Jio Payment Bank 

4) NSDL Payment Bank 

5) Paytm Payment Bank 

Sol: 5,  

Paytm Payments Bank has emerged as the largest beneficiary on the unified payments 

interface (UPI) platform, with 430.04 million transactions in April. 
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67. Who has been roped as the brand ambassador of Vivo? 

1) Mahendra Singh Dhoni 

2) Virat Kohli 

3) Suresh Raina 

4) Rohit Sharma 

Sol: 2,  

Chinese smartphone major player Vivo has appointed cricketer Virat Kohli as its brand 

ambassador. 

 

68. Under which article of Indian Constitution the Finance Commission is constituted? 

1) Article 300 

2) Article 280 

3) Article 250 

4) Article 260 

5) Article 250 

Sol: 2,  

The Finance Commission is a constitutional body for the purpose of allocation of certain 

revenue resources between the Union and the State Governments. It was established under 

Article 280 of the Indian Constitution by the Indian President. It was created to define the 

financial relations between the Centre and the states. It was formed in 1951. 

 

69. Pradhan Mantri Mudra Yojana (PMMY) was launched in the year? 

1) 2014 

2) 2015 

3) 2016 

4) 2013 

5) 2017 

Sol: 2, Pradhan Mantri Mudra Yojana (PMMY) was launched in the year april 8, 2015. It aims at 

providing credit of upto Rs 10 lakh to small entrepreneurs and act as a regulator for Micro-

Finance.  
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70. HSN code stands for Harmonised______ of Nomenclature code.  

1) System  

2) Server 

3) Serial 

4) Session 

5) None of these 

Sol: 1,  

HSN code stands for “Harmonized System of Nomenclature”. This system has been 

introduced for the systematic classification of goods all over the world. It is a 6-digit uniform 

code that classifies 5000+ products and is accepted worldwide.  

 
71.   “FDI” stands for? 

1) Foreign Domestic Income 

2) Foreign Direct Investment 

3) Fixed Depreciation Instalment 

4) Fluctuating Depreciation Instalment 

5) None of these 

Ans- 2  

 
 

72. When is World Health Day observed every year and what was the theme for this year? 

1) 5 April, Universal Health Coverage: everyone, everywhere 

2) 7 April, Building a fairer, healthier world 

3) 8 April,  Universal Health Coverage: everyone, everywhere 

4) 7 April, support nurses and midwives. 

5) None of these 

Sol: 2, - World Health Day is celebrated every year on April 7, to commemorate the founding 

of the World Health Organization in 1948 and to raise awareness of health-related issues. In 

2021 the theme of this celebration is “Building a fairer, healthier world”. 
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73. A person who sign the note of application & render his credit history during the process of loan 

application is called __________. 

1) Accepting party 

2) Accomodation maker 

3) Both 

4) Accepting party & mediater 

5) None of these 

Ans- 2 

 

 
74. The National Food Security Act, (NFSA)was enacted in the year? 

1) 2011 

2) 2012 

3) 2013 

4) 2014 

5) 2015 

Sol: 3,   

The National Food Security Act (NFSA) was introduced by the Government of India on 5th 

April, 2013. It is responsible for the provision of subsidized food grains to upto 75% of the 

rural population and 50% of the urban population of all states and Union Territories (UTs). 

 

75. Among 17 SDG (Sustainable Development Goals), which goal number is named „Zero Hunger‟? 

1) 5 

2) 4 

3) 3 

4) 2 

5) 6 

Sol: 4,  
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The SDGs are designed to end poverty, hunger, AIDS, and discrimination against women and 

girls.  

Goal 1. End poverty 

Goal 2. End hunger 

Goal 3. Ensure healthy lives and promote well-being for all at all ages 

Goal 4. Ensure inclusive and equitable quality education  

Goal 5: Achieve gender equality 

Goal 6: Ensure availability and sustainable management of water and sanitation for all 

Goal 8: Promote sustained, inclusive and sustainable economic growth, 

Goal 9: Build resilient infrastructure, promote inclusive and sustainable industrialization, and 

foster innovation.  

Goal 10: Reduce inequality within and among countries 

Goal 11: Make cities and human settlements inclusive, safe, resilient, and sustainable.  

Goal 12: Ensure sustainable consumption and production patterns.  

Goal 13: Take urgent action to combat climate change and its impacts. 

Goal 14: Conserve and sustainably use the oceans, seas, and marine resources for 

sustainable development.  

Goal 15: Protect, restore, and promote sustainable use of terrestrial ecosystems. 

Goal 16: Promote peaceful and inclusive societies for sustainable development, provide 

access to justice for all, and build effective, accountable, and inclusive institutions at all 

levels. 

Goal 17: Strengthen the means of implementation and revitalize the global partnership for 

sustainable development. 
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76. Who received the Nobel Prize for Physiology or Medicine for the year 2020? 

1) Charles M. Rice 

2) Michael Houghton 

3) Harvey J. Alter 

4) All of these above 

5) None of these 

Sol: 4,  

These three were the given the award jointly for Physiology or Medicine 2020 for the 

discovery of Hepatitis C virus 

 

77. What is the index of the French Stock Market ? 

1) Nifty 50 

2) CAC 40 Index  

3) FTSE 250 

4) S&P/TSX 60 

5) None of these 

Sol: 2 

The CAC 40 is the French stock market index that tracks the 40 largest French stocks based 

on the Euronext Paris market capitalization. 

 

78. Section _____ of the Negotiable Instrument Act, 1881 defines drawer/drawee? 

1) Section 6 

2) Section 7 

3) Section 9 

4) Section 8 

5) Section 5 

Ans- 2 
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79. When the money is borrowed/lend for more than 14 days to one year it is termed as? 

1) Call Money 

2) Short Money 

3) Term Money 

4) Notice Money 

5) None of these 

Ans- 3 

 

80. Academy awards for the year 2021 was been declared and which movie got the award for best 

picture? 

1) Nomadland 

2) Parasite 

3) Mank 

4) The Father 

5) None of these 

Sol: 2,  

The 93rd Academy Awards ceremony, presented by the Academy of Motion Picture Arts and 

Sciences, honored films. The year the ceremony was held on April 25, 2021. Nomad Land 

won the best picture.  

 

81. The Angkor Wat temple complex, is one of the famous site situated in which country? 

1) Indonesia 

2) Cambodia 

3) Thailand 

4) Vietnam 

5) Iran 

Ans- 2 
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82. Monetary policy is also known as 

1) Credit Policy 

2) Fiscal Policy 

3) Income Policy 

4) Money Policy 

5) None of these 

Ans- 1 

 
 

83. Which of the following is an investment strategy in which a fund invests in other types of funds? 

1) Bond 

2) Securities 

3) Stock 

4) Funds of Fund 

5) None of these 

Ans- 4 

 
 

84. In India, Commercial Papers are issued as per the guidelines issued by: 

1) SEBI 

2) RBI 

3) Forward Market Commission 

4) AMFI 

5) IRDA 

Ans- 2 
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85. What is the capital and currency of Seychelles? 

1) Victoria ; Seychellois Rupee 

2) Lulu ; Rupaiah 

3) Takamaka ; Seychelles Dinar 

4) Mahe ; Roupie 

5) None of the above 

Ans- 1 

 

86. Pradhan Mantri Mudra Yojana (PMMY) was launched in the year? 

1) 2014 

2) 2015 

3) 2016 

4) 2013 

5) 2017 

Ans- 2 

 

87. Which is the implementing agency of Atal Pension Yojana? 

1) PFRDA 

2) SEBI 

3) IRDAI 

4) RBI 

5) NABARD 

Ans- 1 
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88. To calculate capital adequacy ratio, the banks are required to take into account which of the 

following risks? 

1) Credit risk, Default Risk and Operational risk 

2) Credit risk and Market risk 

3) Market Risk and Operational Risk 

4) Credit Risk, Market risk and Operational risk 

5) None of these 

Ans- 4 

 

89. As per the 93rd Academy Award 2021 who won the Best Actor title? 

1) Joaquin Phoenix 

2) Anthony Hopkins 

3) Daniel Day-Lewis 

4) Daniel Kaluuya 

5) None of these 

Ans- 2 

 

90. Who is the current head of NCAER(National Council of Applied Economic Research? 

1) Poonam Gupta 

2) Suman Bery 

3) Nandan Nilekani 

4) Shekhar Shah 

5) None of the above 

Sol: 1, Poonam Gupta to head NCAER as its first woman director general of NCAER and she 

will succeed Shekhar Shah.  
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Management & Ethics 

 
91. Match the following: 

A) Herzberg           P) Need Theory 

B) McClelland       Q) Expectancy Theory 

C) McGregor         R) Motivation Hygiene Theory 

D) Vroom               S) Participation Theory and process 

1) A-P, B-S, C-R, D-Q 

2) A-R, B-P, C-S, D-Q 

3) A-R, B-S, C-Q, D-P 

4) A-Q, B-R, C-P, D-S 

5) None of these 

Ans-2 

 

92. Which of the following is correct about the classical approach of management? 

i. It is a theory of management that analyzes and synthesizes workflows, with the objective of 

improving labour productivity        

ii. Bureaucracy, characterized by division of labour, hierarchy, formalized rules, impersonality, and 

the selection and promotion of employees based on ability, would leads to more efficient 

management 

iii. Considers the organization as a system that transforms inputs into outputs while in                           

constant interaction with its' environment. 

1) Only i and ii 

2) Only i and iii 

3) Only i, ii and iv 

4) Only ii, iii and iv 

5) All the above 

Ans- 1 
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93. Management is considered both as science and art, because? 

1) Because students for both streams can apply for management education 

2) Management has been studies by scholars for science and art 

3) Management applies scientific principles for study and skills to deal with human behaviour 

4) Management deals with accounting for business 

5) All of the above 

Ans- 3 

 

94. Which of the following statements is FALSE regarding communication? 

1) Communication is the basis of decision making in an organisation 

2) Communication is required to develop rapport with various agencies and organisations 

concerned with the business 

3) The one thing that is common between verbal and non-verbal communication is that both the 

sender and receiver have to be present at the same location during communication 

4) Grapevine communication cuts through formal organisational structure 

5) Communication helps in establishing effective leadership 

Ans- 3 

 

95. The objective of training is to increase productivity, morale and adaptability. This is a part of 

which of the following management functions? 

1) Planning 

2) Staffing 

3) Budgeting 

4) Directing 

5) Co-ordination 

Ans- 2 
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96. Which of the following is not a type of interview? 

1) Depth Interview 

2) Panel Interview 

3) Informal interview 

4) Productive interview 

5) Patterned interview 

Ans-4 

 

97. The need for achievement  as per the McClellands‟s Theory of Needs, is similar to which of the 

following needs as per Maslow‟s theory 

1) Physiological needs 

2) Security and safety needs 

3) Self-esteem needs 

4) Self-actualization needs 

5) Love and belongingness needs 

Ans- 4 

 

98.  Sensitivity training is also known as 

1) T-group training 

2) Operative Training  

3) Problem-saving training 

4) In-basket exercise 

5) On-the-job training 

Ans- 1 
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99. The Expectancy Theory is best summarised as: 

1) Motivation = Valence + Expectancy + Instrumentality 

2) Motivation = Valence/Expectancy 

3) Motivation = Valence x Expectancy x Instrumentality 

4) Motivation = Expectancy/Instrumentality + Valence 

5) Motivation =Esteem + Valence + Instrumentality 

Ans- 3 

 

100. State the main objective of performance appraisal system: 

1) To evaluate the overall work 

2) To study employee satisfaction level 

3) To identify salary expectations 

4) To assess employee‟s strength and weaknesses 

5) To design selection process 

Ans- 4 

 
 
101. Which of the following is the correct order of Maslow‟s need hierarchy theory? 

1) Physiological needs – safety needs – social needs – ego needs – self actualisation needs 

2) Physiological needs – safety needs – ego needs – social needs – self actualisation needs 

3) Physiological needs – social needs – safety needs – ego needs – self actualisation needs 

4) Physiological needs – social needs – ego needs – safety needs – self actualisation needs 

5) Physiological needs – ego needs – social needs – safety needs – self actualisation needs 

Ans- 1 

 

 



 
 
  

FCI AGM General Admin 2021 Previous Year Paper  

 

      41  ixamBee Offers Exclusive Online Course for Preparation of RBI Gr. B, SEBI Gr. A, NABARD Gr. A/B exams 
 For Free Demo, visit www.ixamBee.com or Contact us at 9205524028 (SMS/WhatsApp/call) 

 

102. Which is NOT an important characteristic of Communication? 

1) Communication process happens between or among two or more parties 

2) It is a two-way process 

3) Communication does not involve mutuality of understanding between Sender and Receiver 

4) Communication involves exchange of ideas, feelings, information, thoughts, and knowledge 

5) Communication should have completeness of message 

Ans- 3 

 

103. Which theory assumes that the average human being has an inherent dislike of work, that most 

people must be threatened to get them to put forth adequate effort?    

1) Theory X 

2) Theory Y 

3) Theory Z 

4) Victor Vroom 

5) Aristotle 

Ans- 1 

 

104. The nature of Human resources are- 

1) Heterogeneous 

2) Homogenous 

3) Ductility 

4) Objective 

5) None of the above 

Ans- 1 
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105. What is meant by the 'Veblen effect'? 

1) The practice of giving everyone low ratings  

2) The practice of giving everyone random ratings 

3) The practice of giving everyone high ratings 

4) The practice of giving everyone average ratings 

5) The practice of giving one‟s favourite, high ratings 

Ans- 4 

 

106. In the ERG Theory, R stands for Relatedness and G for Growth then what does E mean? 

1) Existence 

2) Equity 

3) Essentials 

4) Ego 

5) Elementary 

Ans-1  

 
 
107. Which of it is also known as Rule based view? 

1) Ethics of Care 

2) Deontology 

3) Virtue of Ethics 

4) Teleological 

5) Egoism 

Ans- 2 
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108. Which of these is closest to the definition of Ethics?  

1) Ethics gives organization-specific definitions of what‟s expected and required. 

2) Is the study of the moral problems. 

3) Ethics simply explained is what is good for individuals and society 

4) Is a set of moral philosophies. 

5) None of the above 

Ans- 3 

 

109. Carol Gilligan and Nel Noddings are associated with which theory of Ethics? 

1) Virtue of Ethics 

2) Teleological 

3) Utilitarianism 

4) Ethics of Care 

5) Deontology 

Ans- 4 

 

110. Which among these is NOT a part of Code of Conduct? 

1) It governs actions. 

2) It is well defined and specific in nature. 

3) It is addressed to the employees of the company only. 

4) It is put on public domains of the company, for everyone to see and understand. 

5) Sets out rules like it might forbid sexual harassment, racial intimidation or viewing 

inappropriate or unauthorized content on company computers. 

Ans- 4 
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111. Which moral philosophy seeks the greatest good for the greatest number of people? 

1) Deontology 

2) Utilitarianism 

3) Egoism 

4) Ethical relativism 

5) Ethics of care 

Ans- 2 

 

112. What is meant by the jargon CSR?  

1) Corporate Social Responsibility 

2) Company Social Responsibility 

3) Corporate Society Responsibility 

4) Company Society Responsibility 

5) Commercial Social Responsibility 

Ans- 1 

 

113. Which of the following management function relates to taking corrective actions to correct 

deviations in performance? 

1) Planning 

2) organising 

3) co-ordinating 

4) directing 

5) controlling 

Ans- 5 
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114. The Corporate Governance framework will NOT consist of which of the following? 

1) procedures for proper supervision, control, and information disclosure 

2) procedures for reconciling the sometimes-conflicting interests of various stakeholders 

3) explicit and implicit contracts between the company and the stakeholders for distribution of 

responsibilities, rights, and rewards. 

4) ensuring that audited financial reports, criminal investigations and federal probes happen so 

that bankruptcy of the company does not happen overnight. 

5) All of the above for a part of corporate governance 

Ans- 4 

 

115.  Keeping in mind the general management rules in an organization, which of the following 

is not a feature of accountability? 

1) Can be delegated 

2) Always upward 

3) Unitary 

4) Should be specific standards 

5) Accountability cannot be delegated 

Ans- 1 

 

116. Recruitment and selection must be effective to ensure it: 

1) Offsets high labour turnover 

2) Delivers the highest calibre of individuals at optimum cost 

3) The organisation has a surplus pool of employees in case of sickness and absence 

4) Encourages new blood into the organisation 

5) Eliminates the need for training programmes 

Ans- 2 
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117. The effect in which it is seen that high hopes of good performance from someone is likely to 

improve their performance is known as: 

1) Halo effect 

2) Expectation effect 

3) Golem effect 

4) Pygmallion effect 

5) Impression effect 

Ans- 4 

 

118. A person with this leadership style is a true leader who inspires his or her team with a shared 

vision of the future. 

1) Transactional leadership 

2) Transformational leadership 

3) Autocratic leadership 

4) Democratic leadership 

5) Task-oriented leadership 

Ans- 2 

 
 

119. In this theory, management assumes employees may be ambitious and self-motivated and 

exercise self-control. It is believed that employees enjoy their mental and physical work duties. 

According to them work is as natural as play. 

1) Theory X 

2) Theory Y 

3) Theory Z 

4) Hygiene factor Theory 

5) Valence theory 

Ans- 2 
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120. What is a SWOT analysis? 

1) A strategic way of addressing threats 

2) A strategic work and opportunity technique 

3) A strategic evaluation of the external environment 

4) An analysis of organization's strengths, weaknesses, opportunities, and team management 

5) An analysis of organization's strengths, weaknesses, opportunities, and threats 

Ans- 5 

 

121. According to Larry Greiner‟s organisational growth model, an organisation may face which 

crisis at its highest maturity stage? 

1) Leadership crisis 

2) Autonomy crisis 

3) Red tape crisis 

4) Control crisis  

5) Identity crisis 

Ans- 5 

 

122. The Managerial Grid theory that helps Managers to analyze their own leadership styles through 

a technique known as grid training was given by 

1) Thomas Carlyle 

2) McCall and Lombardo 

3) Blake and Mouton 

4) Coch, L. and French, J.R.P. 

5) Fiedler, F.E. (1967) 

Ans- 3 
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123. A leadership theory which asserts that an individual is composed of a set of definite 

predisposition attributes & believes that the leaders are born and not made 

1) Trait Theory 

2) Behavioral Theory 

3) Contingency Theory 

4) Transactional theory 

5) Great Man theory 

Ans- 5 

 

124. Which type of Inventory Management models focuses on minimizing variable inventory costs & 

takes into account storage, ordering costs and shortage costs. 

1) EOQ 

2) PERT 

3) CPM 

4) EPQ 

5) Forecasting 

Ans- 1 

 

125.  Sudhir, a project manager, wants to ensure that his employees are highly productive and 

satisfied with their jobs. Sudhir sets high goals and a clear direction for completing the tasks. He 

also gets involved in meeting the goals and is very involved in the process. What leadership theory 

is Sudhir using? 

1) Transformational 

2) Team Leadership 

3) Transactional 

4) Path-Goal leadership 

5) Situational leadership 

Ans- 4 
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126. The process through which the symbols of a message are translated into a form that the 

receiver can understand is called 

1) Decoding 

2) Encoding 

3) Explaining 

4) Programming 

5) understanding 

Ans-1 

 
  

127. Which of the following concepts is associated with Scientific Management? 

A.      Time & Motion Study 

B.      Rule of Thumb 

C.      Differential Piece rate plan 

D.      Unity of Command 

1) A, B and C 

2) A, C and D 

3) A and B 

4) A and C 

5) All of the above 

Ans- 4 

 

128. All of the following are managerial on-the-job training method EXCEPT___________ 

1) Job Rotation 

2) Mentoring 

3) Job Instruction 

4) Management Games 

5) All are on-the-job methods 

Ans- 4 



 
 
  

FCI AGM General Admin 2021 Previous Year Paper  

 

      50  ixamBee Offers Exclusive Online Course for Preparation of RBI Gr. B, SEBI Gr. A, NABARD Gr. A/B exams 
 For Free Demo, visit www.ixamBee.com or Contact us at 9205524028 (SMS/WhatsApp/call) 

 

129. In his article, “Skills of an effective Administrator”, he identified the three key managerial skills 

required and their relationship with the different hierarchical management levels. Who are we 

referring to?  

1) Peter Guy Northouse 

2) Robert Blake 

3) Robert L Katz 

4) Paul Hersey 

5) Henry Mintzberg 

Ans- 3 

 

130.  Which of the following is not an on-the-job training method?   

1) Understudy 

2) Position rotation 

3) Apprenticeship 

4) Special projects and assignments 

5) Conferences 

Ans- 5 

 
131. Upward appraisal is done by 

1) Immediate Supervisor 

2) Peers 

3) Subordinates 

4) None of the given options 

5) Board of members 

Ans- 3 
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132. The Porter & Lawler model of motivation is an extension of the 

1) Equity theory 

2) ERG theory 

3) Acquired needs theory 

4) Expectancy theory 

5) None of the above 

Ans- 4 

 

133. To a transactional leader, when delivering rewards or punishment to subordinates, the most 

important aspect considered is _______ 

1) Employee tenure of work with the organisation 

2) Employee motivation level 

3) Employee relationships with the manager 

4) Employee performance 

5) All of the above 

Ans- 4 

 

134.   In Lewin‟s organization change process, introduction of new attitudes and behaviours is 

included in the ___ stage?  

1) Unfreezing 

2) Moving 

3) Refreezing 

4) Liquid 

5) Any one of the above 

Ans- 2 

 
135. Which of the following fundamental rights is enforceable even during emergency in India?  

1) Article 14 

2) Article 23 

3) Article 20 

4) Article 29 

5) None of the above 

Ans- 3 
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Agriculture & Agriculture Economy  & Computer Awareness 

 

136. When water is available for three irrigation in wheat , than it should apply to 

1) CRI, Late tillering, flowering 

2) CRI, Late jointing, Milk stage 

3) CRI, Boot stage, Dought Stage 

4) CRI, Milk Stage, Dought Stage 

5) CRI, flowering, Boot stage 

Ans- 2 

 

137. Which micronutrient is mostly deficient in Indian soil? 

1) Phosphorus 

2) Zinc 

3) Mangnese 

4) calcium 

5) Boron  

Ans- 2 

 

138. Crops grown to supplement the yield of main crop are known as______  

1) Mixed crops 

2) border crops 

3) guard crops 

4) companion crops 

5) Augmenting crops 

Ans- 5 
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139. Among given option which is not the suitable method to judge the sugarcane maturity. 

1) Bud swell out of nods 

2) Brix reading 21 to 240 brix 

3) Eyes start sprouting 

4) Glucose content(710%) 

5) None of the above 

Ans- 4 

 

140. What is the budget allocation for Atal Bhujal Yojna in budget 2020 – 21 ? 

1) 100 Cr 

2) 200 Cr 

3) 500 Cr 

4) 900 Cr 

5) 1400 Cr 

Ans- 2 

 

141. Pradhan mantri Van Dhan yojana initiated by which ministry ?  

1) Ministry of skill development and entrepreneurship 

2) Ministry of tribal affairs 

3) Ministry of youth affairs 

4) Ministry of Rural development 

5) Ministry of micro small and medium enterprises 

Ans- 2 

 
 
 



 
 
  

FCI AGM General Admin 2021 Previous Year Paper  

 

      54  ixamBee Offers Exclusive Online Course for Preparation of RBI Gr. B, SEBI Gr. A, NABARD Gr. A/B exams 
 For Free Demo, visit www.ixamBee.com or Contact us at 9205524028 (SMS/WhatsApp/call) 

 

142. What is the present status of eNAM as on budget 2021-22 

1) 1000 Mandis, 18 states and 3 Uts 

2) 585 Mandis, 17 states and 2 Uts 

3) 1000 Mandis, 17 states and 2 Uts 

4) 585 Mandis, 18 states and 3 Uts 

5) None of the above 

Ans- 1 

 

143. KCC credit card facilities can be extended to which of the following category 

1) Production of crops 

2) Rearing of milch cattle 

3) Fish farming 

4) Negotiable Warehouse receipts 

5) All of the above 

Ans- 5 

 

144. What is the limit of collateral free loans under agriculture 

1) 1 Lakh 

2) 2 Lakh 

3) 1.6 lakh 

4) 3 lakh 

5) no limit 

Ans- 3 
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145. Which one of the following is not fulfilling the aim and objective of PKVY 

1) To increase cost of agriculture to farmers through sustainable integrated organic farming 

systems thereby enhancing farmer's net income per unit of land. 

2) To sustainably produce chemical free and nutritious food for human consumption. 

3) To protect environment from hazardous inorganic chemicals by adoption of eco-friendly low-

cost traditional techniques and farmer friendly technologies. 

4) To empower farmers through their own institutional development in the form of clusters and 

group with capacity to manage production, processing, value addition and certification 

management. 

5) To make farmers entrepreneurs through direct market linkages with local and national 

markets 

Ans- 1 

 

146. PMMSY scheme is an umbrella scheme consist of which of the following components 

1) Central sector scheme 

2) Central sector and state sector 

3) Central sector and central sponsored scheme 

4) Central sponsored scheme only 

5) All are correct 

Ans- 3 
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147. What is the upper limit of KCC for fisheries farmers 

1) 1.6 lakh 

2) 2 lakh 

3) 3 lakh 

4) No limit 

5) None of the above 

Ans- 2 

 

148. Which one of the following is the deadly disease of cattle 

1) FMD 

2) Ranikhet disease 

3) PPR 

4) All of the above 

5) Only A and C are correct 

Ans- 5 

 

149. Carbohydrate is present only around ……………… of total animal body 

1) 1% 

2) 2% 

3) 5% 

4) 10% 

5) 30% 

Ans- 1 
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150. Milk fever (Parturient paresis) in cattle is due to the deficiency of 

1) Iron 

2) Zinc 

3) Copper 

4) Calcium 

5) Phosphorus 

Ans- 4 

 

151. Which of the following mineral is present in hormone thyroxine? 

1) Cobalt 

2) Iron 

3) Calcium 

4) Iodine 

5) Zinc 

Ans- 4 

 

152. Coccidiosis is a disease of fowl that causes diarrhea, unthriftiness or death and is caused by 

1) Virus 

2) Fungi 

3) Bacteria 

4) Protozoa 

5) Mycoplasma 

Ans- 4 
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153. Karan Swiss is a cross breed of 

1) Brown Swiss x Tharparker 

2) Holstein Friesian x Sahiwal 

3) Brown Swiss x Sahiwal 

4) Tharparker x Holstein Friesian 

5) None of the above 

Ans- 3 

 

154. Patanwadi, a sheep breed known for its hosiery wool quality is native to 

1) Maharashtra 

2) Assam 

3) Kerala 

4) Gujarat 

5) Orissa 

Ans- 4 

 

155. Brooding period of chicken is commonly 

1) First two weeks 

2) One week  

3) First 3-8 weeks 

4) First 8-10 weeks 

5) First 5-12 weeks 

Ans- 3 
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156. In which type of farming, no single enterprise contributes 50% of the total farm income? 

1) State farming 

2) Intensive farming 

3) Capitalistic farming 

4) Diversified farming 

5) Rainfed farming 

Ans- 4 

 

157. Coffee plantation is an example of  

1) Collective farming 

2) Diversified farming 

3) Capitalistic farming 

4) Peasant farming 

5) None of the given option is correct 

Ans- 3 

 

158. In which type of farming, crop production is combined with livestock raising and at least 10 per 

cent of gross income must be contributed by the livestock? 

1) Diversified farming 

2) Specialised farming 

3) Mixed farming 

4) Extensive farming 

5) Ranching 

Ans-3  
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159. Word agriculture is derived from 

1) Latin 

2) French 

3) Greek 

4) Arabic 

5) None of these 

Ans- 1 

 

160. Kharif word is originated from 

1) Greek 

2) Latin 

3) English 

4) Hindi 

5) Arabic 

Ans- 5 

 

161. Dogs were the first animal to be domesticated. Domestication took place in 

1) 2200 B.C. 

2) 7700 B.C. 

3) 6000 B.C. 

4) 8700 B.C. 

5) 10000 B.C. 

Ans- 5 
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162. The fruit type of Tomato, Grape, Brinjal, Banana, Chilli, Papaya is 

1) Drupe 

2) Berry 

3) Lomentum 

4) Pepo 

5) Pome 

Ans- 2 

 

163. Golden rice, a variety of rice produced through genetic engineering to bio synthesize beta 

carotene, a precursor of 

1) Vitamin A 

2) Vitamin D 

3) Vitamin C 

4) Vitamin E 

5) Vitamin K 

Ans- 1 

 

164.   Genetically most pure seed is 

1) Nucleus seed 

2) Breeder seed 

3) Foundation seed d. 

4) Certified seed 

5) Truthfully labelled seed 

Ans- 1 
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165. The maximum field area that can be taken under one unit of certification is 

1) 1 ha 

2) 2 ha 

3) 5 ha 

4) 10 ha   

5) 12 ha 

Ans- 1 

 

166. The insect pests activity in seed storage ceases at seed moisture content below which one of 

the following ? 

1) 6% 

2) 8% 

3) 10% 

4) 12% 

5) 15% 

Ans- 2 

 

167. Number of insect pests in seeds is generally expressed in terms of which one of the following ? 

1) Number per volume of seed 

2) Number per weight of seed 

3) Percentage by number 

4) Percentage by weight 

5) None of the above 

Ans- 2 
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168. Which of the following crop combination has lowest and highest seed multiplication ratio 

respectively? 

1) Coconut and Sesame 

2) Field pea and Soybean 

3) Groundnut and Coconut 

4) Sesame and field pea 

5) Soybean and Coconut 

Ans- 1 

 

169. Which one of the following equipment is used to remove corn seeds from its cob ? 

1) Huller 

2) Sheller 

3) Scarifier 

4) Debearder 

5) None of the above 

Ans- 2 

 

170. Nitrogen is translocated in seed in the form of 

1) Amino acid 

2) Fat 

3) Protein 

4) Sucrose 

5) None of the above 

Ans- 3 
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171. Who is called the "father of modern information theory" 

1) Bob Kahn & Vint Cerf 

2) Claude Shannon 

3) Donald Davies 

4) Steve Crocker 

5) None of these 

Ans- 2 

 

172. It is device that optically scans images, printed text, handwriting or an object and converts it to 

a digital image called 

1) Plotter 

2) Printer 

3) Image scanner 

4) Optical character recognition 

5) None of these 

Ans- 3 

 

173. What is the process we called to change the name of file? 

1) Retagging 

2) Renaming 

3) Defragmenting 

4) Transforming 

5) None of these 

Ans- 2 
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174. What is the shortcut key for Slide Show in Powerpoint? 

1) F2 

2) F5 

3) F3 

4) F7 

5) None of these 

Ans- 2 

 

175. The translation of data into a secret code is known as _______ 

1) Source coding 

2) Encryption 

3) Spooling 

4) Compressing 

5) None of these 

Ans- 2 

 

176. Alt+Enter  keyboard shortcut performs? 

1) Edit the active cell. 

2) Highlight the entire column. 

3) Highlight the entire Row. 

4) When editing a cell, add a line break within the same cell. 

5) None of these 

Ans- 4 
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177. In which of the following format Webpages are saved? 

1) DOC 

2) URL 

3) http:/ 

4) HTML 

5) None of these 

Ans- 4 

 

178. To select an entire column in MS Excel, which of the following is used? 

1) Alt + Shift 

2) Ctrl + Space 

3) Ctrl + Alt + Del 

4) Ctrl +Alt 

5) None of these 

Ans- 2 

 

179. What are the important functions of an operating System? 

1) Memory Management 

2) Processor Management 

3) Device Management 

4) All of the above 

5) None of these 

Ans- 4 
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180. Which high level language is used for business data processing application?   

1) COBOL 

2) PASCAL 

3) BASIC 

4) FORTRAN 

5) None of these 

Ans- 1 
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